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Zad.2	
  
Rozwiąż	
  krzyżówkę.	
  
	
  

	
  
	
  
Zad.3	
  	
  
Podaj	
  właściwy	
  wynik:	
  
	
  
7+7:7+7*7-­‐1	
  



	
  
Zad.	
  4	
  	
  
Ania	
  i	
  	
  Ola	
  zabrały	
  na	
  wycieczkę	
  jednakowe	
  kwoty	
  pieniędzy.	
  Ania	
  
wydała	
  2/3	
  swoich	
  pieniędzy,	
  a	
  Ola	
  przywiozła	
  z	
  wycieczki	
  2/9	
  
kwoty,	
  którą	
  zabrała.	
  Którą	
  z	
  dziewcząt	
  można	
  uznać	
  za	
  bardziej	
  
oszczędną?	
  Uzasadnij	
  swoją	
  odpowiedź.	
  
	
  
	
  
	
  
	
  
	
  
Zad.	
  5	
  
Krok	
  krasnoludka	
  to	
  2/5	
  jednostki	
  na	
  poniższej	
  osi	
  liczbowej.	
  Ile	
  
kroków	
  dzieli	
  te	
  dwa	
  krasnoludki?	
  Odpowiedź	
  uzasadnij.	
  
	
  

	
  


